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dy 2 5 e
=~ =|(tanx -~ dx’ e
X /s i* \CL= T
= lny=lnsec:x-—tanx.+,C' A NI
: : ] .
15. b= I_ = dx 4 f f: ala2+blb2+cl"2 0‘ \
Eybin ? -
I= I e —2]’2] exdx | ) 3 ,i'. i —"qT'EQ —_3p +9P 6 0 i. Py 1“
f i A TR T { |
2 x { k J\ 1 ?g ; By '—3p+2 Orsi"; i i
=xX¢€ —2]— —dx { \ e 3 Ay 3 B Zia 4 ,,‘}
: ® i) B . < KT j
2 x i \ l\ ‘(" \‘ ”EIIIEELW Hq’lalzu %'_ ‘ “/
=x"e —2[xa:——j.l-exa'] \ \ : 3% _dy+ 57=0 /
2 x gyl N kR : ; £S5 e @
=x‘¢ —2xex+ex Y U 2 Neow ok = 4 =§"‘\: i 7
=ex(12—2x+1) ki ‘\ . 0= z-"-_. s ’/
2 Ans. | £ Soal | '
Wi I : wﬁﬁmmmm% T a,a, + bbFc,c, =0
" 16. a=5i+j-3kb=3i-4j+Tk ”'~(3x2+(—4)( 1)+ 5(=2)
A TN P G 2 =6+4-10=10-10=0 ™
a-b=(5i+i-3k)-Gi-4j +7k) S el T Sy o e §
= = =10 Ans. i PRI
15-4-21=15-25 Ans. 1 Ca (D=6
1. a=3i+4j-5kb=5i-3]+6k T a® o 5 nE)=2
a+b=10i+j+k ; Py "E) _2_1
\ i i idakl . , _ ! ®)= S 6 =3 Ans.
b - a-b=4i+7j+k - e . : ;
| e &, n. n©=2
= I L A i - n(Ey=1x2? .
: (q+b)x(a—b)= 1 1 ; - : ' (E)_n(E) 2_1
es N ! nS) 23 2
= a(=11-7)-7(-110+4) x k(70 + 4) 73, y= sinx + cosx
=1_7;'+106j+mA1iS. ' %:cosx—siux
g, Direction ratio (1, 1,0) % (2, 1,2) ®1 ' . R
| A
/ : - 2
; : al—laz=2 g--'-;J-=—sin;c-—t:osx
i b=lk=] . - dx
\\\\ Cl_] 2_2 .

= — (sinx + cosx)

~—



24. [Rl'—)Rl—Rz,Rz—)Rz—R:;]

a2
b2 - c?
1- -

0 1 a+b
=abc(a-b)b-c)0 1 b+c
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